CHRONOMATH 10

n8+9=... N4x5=... ﬂ15x10=...
n7+8=... n5x6=... ﬁ24x10=...
9+9=... H3x3=... PEY 154 x 10 = ...
n6+7=... m6x7=... ﬂ108x10=...
ﬂ8+7=... H8x4=... ﬁ683x10=...
n2+9+1=...m4x...=24 ﬁ66x100=...

(@ 6+7+4=... RIM7 x...=49 |pi@48x100=...
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n8+7=... H8x4=... ﬁ683x10=...
n2+9+1=...m4x...=24 ﬁﬁaxmo:...

(@ 6+7+4=... REIM7 x...=49 |pI@48x100=...
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ﬁ62x...=6200
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CHRONOMATH 10 : réponse

n 17 n 20 ﬂ 150
n 15 m 30 m 240
18 O m 1540
n 13 m 42 m 1080
H 15 m 32 E 6830
n 12 m 6 m 6600
17 V4 4800
n Y4 m 9 m 9300
n 38 m 9 m 100

187 8x8 Iy 300
K 20 30



